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QUESTION 1

Which methodis used to limit everyone to read access at the database level? 

A. inheritance 

B. propagation 

C. remote access 

D. specific access 

Correct Answer: D 

 

QUESTION 2

Which statement is true about baseline set definitions? 

A. Module level baselines are inhibited by baseline sets. 

B. A module can only be listed in one baseline set definition. 

C. Modules must be listed in the baseline set definition before the set iscreated. 

D. When a baseline set definition is copied, all baseline sets created from it are copied as well. 

Correct Answer: C 

 

QUESTION 3

When tracking development traceability along the V-model, what satisfies stakeholder requirements? 

A. vision 

B. system tests 

C. acceptance tests 

D. system requirements 

Correct Answer: D 

 

 

QUESTION 4

Which two modules areinitially created in the Change Proposal System folder? (Choose two.) 

A. Groups 
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B. Baselines 

C. Suggestions 

D. Change Proposal Users 

Correct Answer: CD 

 

QUESTION 5

Which method is used to control the type and direction of all links? 

A. use link arrows 

B. enable linkset control 

C. create linkset definitions 

D. create a mandatory default linkset pairing 

Correct Answer: D 
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